Year 11 Chemistry SOLUTIONS

Chemical Calculations Assignment 3
Practical Applications

1.

(a) There is no single right answer for this metacognitive question, but it must be clear and possible.
(b) Water.

(a)
(i) Concentration
i =6

(i) Moles

iy Mo
LoV =Cy,

(i) Volume

(ii) =",

ey =y, =003 56200027 mol
v, 250

ny=n,

L CV, =CY,

Yy 0.10x300

OV, 300+50

-G, =0.086 mol L'

(a) M., =63.55g mol™

m 1
N, =—== 19 5016 mol
M., 63.55



b n 4
(b) Mole ratio ——2= =
n 1

Cu

4
.n :IXnCu =4x0.016 =0.063 mol

HNO,

(c) c=2.0moll* n=0.063mol V=2

- M

c="
vV
_n_0083 ;0311
o 0
g0 = 40.31 g mol™
m, 044
Mgo = — 2 _ 0048 _ ) 0011 mol
Mygo 40.31

. n 2
Mole ratio —<-==
n

MgOo
. 2
SN = 1 XNyo =2%0.0011=0.0022 mol
n 0.0022 i
Cog =19 = =0.11 mol L*
\/HCI 0.020
1B Dissolve
the KOH ina
250 mL flask
(a) c
1A Weigh out
ﬁ the KOH \ K
L 3A Add KOH
2A Measure solution to
20 mL of burette
biodisesel

2B Dissolve in

(b) n=CV=0.010x0.250 = 0.0025 mol
Myye0 = 56.108 g mol™
m=nM =0.0025x56.108 =0.14 g

‘ i 3D Titrate

until reaction

3B Take 20 mL 3C Transfer to is complete
sample of dilute a conical flask
biodiesel



(c) 4.2mL=0.0042L
n=CV =0.010x0.0042 =4.2x10"> mol

(d) n(H*
Mole ratio ( ) 1
n(KOH) 1

n(H*) = % xn(KOH) =4.2x10"° mol

n_42x107 00021 mol Lt
vV 0.020
(f) n,=n,

eV =Gy,
GV, 0.0021x1000
v 20

1

(e)

=0.11 mol L*

.G,



